
I. Please choose the one word or phrase that best completes the sentence. (20%)
1. __________ complex organic catalysts originating in living cells.

	(A) Enzymes
	(B) Enzymes are

	(C) Enzymes which are
	(D) Enzymes while they


2. __________, the constitution of the Cherokee Nation provided for a chief executive, a senate, and a house of representative.

	(A) In 1827 they drafted
	(B) The draft in 1827

	(C) In 1827 was drafted
	(D) Drafted in 1827


3. When __________ in arctic regions, the Aleuts construct igloos as temporary winter shelters.

	(A) travel
	(B) to travel

	(C) traveling them
	(D) traveling


4. An ultrasonic wave has __________ a high frequency that it is inaudible.

	(A) therefore
	(B) above

	(C) such
	(D) thus


5. No one is completely sure __________ causes booms and depressions in free economics.

	(A) how
	(B) whom

	(C) what
	(D) why


6. A biologist does not merely describe organisms, but tries to learn __________ act as they do.

	(A) what causes them to
	(B) causes them to what

	(C) what to cause them
	(D) what cause to them


7. Vaporization in connection with general __________ has a market effect on long-term climate.

	(A) atmospheric conditions that
	(B) conditions are atmospheric

	(C) are atmospheric conditions
	(D) atmospheric conditions


8. Although __________ rigid, bones exhibit a degree of elasticity that enables the skeleton to withstand considerable impact.
	(A) apparently
	(B) are apparently

	(C) apparently their
	(D) are they apparently


9. A panda’s primary activity is sleep, __________its waking hours looking for food.
	(A) that spends
	(B) for spending

	(C) and it spends
	(D) will spend


10. In sculpture __________ “modeling” denotes a way of shaping clay, wax, or other pliable materials.
	(A) to the term
	(B) is termed

	(C) the term
	(D) to term


II. Short conversations (20%)
1. A: What do you do?  B: …

(A) My homework.

(B) I’m studying.

(C) Fine, thanks.

(D) I’m a bus driver.

2. A: Hi, I’m Amanda Saxby. B: I’m sorry. …?  A: It’s Amanda.

(A) How do you spell it?

(B) What’s your first name again?

(C) How do you do?

(D) What’s your last name again?

3. A: Excuse me. Which way is the Warner Movie Theater?  B: … A: Thanks.

(A) No, I’ve seen that movie.

(B) I love movies, too.

(C) Yes, in Tainan and Taipei.

(D) It’s around the corner, next to the supermarket.

4. A: How do you feel about going to a KTV after the test?
 B: …

(A) Sure.

(B) Bored.

(C) It’s too difficult.

(D) Yes, I like it.

5. A: Hi, Kenny.  How are you doing?
 B: …

(A) It’s easy. I’ll show you.

(B) My homework.

(C) Fine, thanks.
(D) I’m James.  How do you do?

6. A: Do you have any apple pie?  B: I’m afraid we’ve run out.  A: …

(A) Don’t be afraid.

(B) I’ll have ice cream, then.

(C) I’ll wait, then.

(D) When will they return?

7. A: It’s quite dim in here.  Could you … the lights?  B: Sure, there you go.

(A) turn on

(B) open

(C) turn off

(D) put on

8. A: Excuse me. I asked for French dressing, but this salad has Thousand Island dressing.  B: … A: Thank you.

(A) We’re out of French dressing.

(B) That’s OK.  It wasn’t your fault.

(C) I’m sorry.  I’ll change it right away.

(D) Thousand Island is better than French.

9. A: Do you think I could borrow your computer this weekend?  B: …

(A) I think I can’t borrow you.

(B) Thank you so much.

(C) I’m sorry, but it’s broken.

(D) Sorry, I don’t have any.

10. A: What are you going to do at Chinese New Year?  B: …

(A) Congratulations!

(B) I don’t decide yet.

(C) I am eating many foods.

(D) I’m not sure yet.
III. Reading Comprehension (40%)
Without regular supplies of some hormones our capacity to behave would be seriously impaired; without others we would soon die. Tiny amounts of some hormones can modify our moods and our actions, our inclination to eat or drink, our aggressiveness or submissiveness, and our reproductive and parental behavior. And hormones do more than influence adult behavior; early in life they help to determine the development of bodily form and may even determine an individual’s behavioral capacities. Later in life the changing outputs of some endocrine glands and the body’s changing sensitivity to some hormones are essential aspects of the phenomena of aging.

Communication within the body and the consequent integration of behavior were considered the exclusive province of the nervous system up to the beginning of the present century. The emergence of endocrinology as a separate discipline can probably be traced to the experiments of Bayliss and Starling on the hormone secretin. This substance is secreted from cells in the intestinal walls when food enters the stomach; it travels through the bloodstream and stimulates the pancreas to liberate pancreatic juice, which aids in digestion. By showing that special cells secrete chemical agents that are conveyed by the bloodstream and regulate distant target organs or tissues. Bayliss and Starling demonstrated the chemical integration can occur without participation of the nervous system.

The term “hormone” was first used with reference to secretin. Starling derived the term from the Greek hormon, meaning “to excite or set in motion.” The term “endocrine” was introduced shortly thereafter. “Endocrine” is used to refer to glands that secrete products into the bloodstream. The term “endocrine” contrasts with “exocrine,” which is applied to glands that secrete their products through ducts to the site of action. Examples of exocrine glands are the tear glands, the sweat glands, and the pancreas, which secretes pancreatic juice through a duct into the intestine. Exocrine glands are also called duct glands, while endocrine glands are called ductless.

1. What is the author’s main purpose in the passage?

(A) To explain the specific functions of various hormones

(B) To provide general information about hormones

(C) To explain how the term “hormone” evolved

(D) To report on experiments in endocrinology

2. Which of the following is NOT mentioned as an effect of hormones?

(A) Modification of behavior

(B) Sensitivity to hunger and thirst

(C) Aggressive feelings

(D) Maintenance of blood pressure

3. The passage supports which of the following conclusions?

(A) The human body requires large amounts of most hormones.

(B) Synthetic hormones can replace a person’s natural supply of hormones if necessary.

(C) The quantity of hormones produced and their effects on the body are related to a person’s age.
(D) The short child of tall parents very likely had a hormone deficiency early in life.

4. It can be inferred from the passage that, before the Bayliss and Starling experiments, most people believed that chemical integration occurred only …..

(A) during sleep

(B) in the endocrine glands

(C) under control of the nervous system

(D) during strenuous exercise

5. In line 14, the word “liberate” could best be replaced by which of the following?

(A) Emancipate

(B) Discharge

(C) Surrender

(D) Save

6. According to the passage, another term for “exocrine glands” is

(A) duct glands

(B) endocrine glands

(C) ductless glands

(D) intestinal glands

At birth, the infant has only the most elementary emotional life. Newborns show an expression of disgust, for example, in response to strong tastes, and show surprise in reaction to sudden changes. They also show interest, which developmental psychologists consider an emotion in its own right.

By ten months, infants display the full range of what are considered the basic emotions during the first year or two of life seems to be programmed by a biological clock for brain development. As the appropriate brain maturation occurs, the various emotions appear in an infant’s repertory. For example, studies of brain activity in ten-month-olds show that the right frontal regions are more active during positive emotions, and the left during negative emotions.

7. Which of the following is the best title for the passage?
(A) Measuring Infant Intelligence and Brain Development
      (B) Brain Maturation and Emotional Growth in Infants

      (C) Stimulating the Development of Infant Emotions
      (D) Positive and Negative Emotions in Infants 
8. Which of the following is NOT mentioned in the passage as an emotion displayed by a newborn?

(A) Disgust

(B) Interest

(C) Surprise
(D) Fear

9. The phrase “in its own right” in line 4 is closet in meaning to which of the following?

(A) Legally

(B) In fact

(C) In itself

(D) On the other hand

10. The idea in the passage are divided into two paragraphs in order to contrast

(A) emotional development at two stages of infancy

(B) two areas of the brain involved in emotional development

(C) the development of two emotions in infants

(D) two methods of measuring emotional development

Science is now catching up with what gardeners have known for decades, that by growing plants we can relieve stress, while helping to clean the environment.  A growing body of research shows that cultivating plants indoors and outdoors, may be the best medicine available for improving mental and physical well-being at any age.  Studies of interactions between plants and people have provided overwhelming evidence that plants have a measurable beneficial effect on people and the spaces they inhabit.  Gardening in general has become one of the most popular leisure activities, and the cultivation of houseplants in particular has developed an enthusiastic following.

11. The phrase “overwhelming evidence” in sentence three suggests that:

(A) The evidence is not convincing.

(B) The evidence is disturbing.

(C) The evidence is interesting.

(D) The evidence is sizable.

12. Which word best expresses the tone of the passage?

(A) Concerned

(B) Objective

(C) Disinterested

(D) Prophetic

13. Which of the following statements cannot be inferred from the passage?

(A) Scientists and gardeners have reached similar results.

(B) Studies on plants continue to be conducted.

(C) Stress generally comes from a dirty environment.

(D) Young people can benefit from gardening.

14. What is the purpose of the passage?

(A) To inform

(B) To describe

(C) To persuade

(D) To criticize

15. Which sentence best expresses the main idea of the passage?

(A) Scientists are slow to understand the role of plants in health.

(B) Cultivating plants improves everyone’s health.

(C) We must find ways to reduce stress in today’s society.

(D) Gardening is the best leisure activity.


A powerful earthquake struck Taiwan yesterday, cracking walls, knocking cell phones off the air and spooking the stock market as it brought back bad memories of the big, deadly quake of 1999.  At least four people were injured by falling objects, but there were no immediate reports of death or serious damage from the 6.2-magnitude quake centered under the sea off Taiwan’s northeast coast. In Taipei, some buildings were damaged.  Inside skyscrapers, objects fell off shelves and ceiling lights swayed as the earth shook for about 20 seconds.  Roof tiles flew off  the Chiang Kai-shek Memorial Hall, the government said, and there were reports of walls cracking and falling across the island.

16. Which word best expresses the writer’s style in the passage?

(A) Terse

(B) Precise

(C) Flowing

(D) Grand

17. The word “spooking”, used in the first sentence, normally means “scaring”.  Which statement best expresses its usage in the passage?

(A) The stock market collapsed.

(B) The stock market closed.

(C) The stock market declined.

(D) The stock market reacted strongly.

18. The phrase “no immediate reports”, used in the second sentence, means:

(A) There is no information on the subject.

(B) The information is unavailable.

(C) The information is on the way.

(D) No one is certain about the information.

19. The words “cracking,” “knocking,” and “spooking”

(A) Form an absolute phrase

(B) Are parallel

(C) Are progressive verbs

(D) Are in the passive voice

20. What cannot be inferred from the passage?

(A) No large buildings collapsed.

(B) No one died in the quake.

(C) The quake was stronger than most.

(D) The quake lasted longer than most.

IV. Translation. Please translate the following English passages into Chinese and translate the following Chinese passage into English. (20%)
1. I have a dream my four little children will one day live in a nation where they will not be judged by the color of their skin but by the content of their character. (5%)
2. Jazz is an American art form, a music that came into being in the United States toward the end of the nineteenth century. This music is no longer new or experimental; it has endured the test of time. (5%)
3. 臺灣袖珍博物館在全亞洲來講規模最大，在全世界則排名第二。自一九九七年開幕以來，博物館已經吸引了無數來自全球各地、不分老少的人前來讚嘆它的絕妙收藏。你可以俯身細瞧邦克山上的玫瑰豪宅內部，由上往下觀看倫敦的白金漢宮，漫步在紐約摩天大樓之間。一旦你這麼做，你就會真的明白格列佛在小人國裡是什麼樣的感受了。(10%)
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